MCCX Joystick and Controller
Before 4/1/96




MCCX Joystick and Controller

Before 4/1/96
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 A 1027409-NLA | NLA - Joystick with Tube Assembly 1 1
1 B 1006715-NLA | NLA - Joystick with Tube 1 1
2 1032696-NLA | NLA - Joystick, Inductive 1 1
2 1006191-NLA | NLA - Joystick Ball Knob w/ Tolerance Ring 1 1
Assembly
2 50000X364-NLA | NLA - Boot, Joystick 1 1
2 1028079-NLA | NLA - Screw, Phillips Pan Head (#4-40 x 5/8") 1 4
3 1027267-NLA | NLA - Half Clamp, Threaded Holes 1 1
4 1027266 Half Clamp, Non-Threaded Holes 1 1
5 1027274 Adjustment Lock Assemnbly, Black 1 1
6 1027268 Screw, Allen Head (1/4-20 x 1") 1 3
7 1027252-NLA | NLA - Bracket, Joystick Mounting, Black 1 1
8 16348X004-NLA | NLA - Rivet 1 4
9 G |50000X025-NLA | NLA - Clip, Lock Over Latch 1 2
10 1027263-NLA | NLA - Washer, Lock Internal Tooth (#10) 1 3
11 1027264-NLA | NLA - Screw, Phillips Pan Head (#8-32 x 1/2") 1 3
12 50000X403-NLA | NLA - Clamp, Black Plastic 1 1
13 1027238-NLA | NLA - Bracket without Hardware, Controller 1 1
13 1037178-NLA | NLA - Bracket with Hardware, Controller 1 1
14 C 1036494-NLA | NLA - Controller without Bracket 1 1
14 D,F 1026451-NLA | NLA - Controller without Bracket 1 1
E 1006271 Extension, Joystick, Straight Style (1561) 1 1
(/2" W x 5" L)
E 1006270 Extension, Joystick, "T" Style (1560) 1 1
(4" W x 5-1/2" L)
E 1036494E-NLA | NLA - Controller without Bracket, MCCX 1 1
NOTE: A - After 11/91
B - Before 12/91- Repair Only
C - After 10/92
D - Before 11/92
E - Not Shown

F - Repair only or use 1036494E reconditioned
G - For Keeper




